
t2

(rr) cw+ nes fu qrw { erfu qrs Er s% i tk
qnRsr + 6% tt gil(-6r nffi< qrs n sol$l qt(

dm c{ fr{ {e+ fr qlts€ s( qlFffit sIqR q{

so.ao /$ I tr g<ar frv w erw sqlqK qtfrh 6I Tq
Rl t? q? S rd 6i fr fr( Y6R {w d rr€ qrq

rqrqrs wrddl rqrFe d wqfrt

[This question paper contains l2 printed pages.]

f

Sr. No. of Question Paper:

Unique Paper Code :

Name of the Paper :

Name of the Course

Seme ster

Duration : 3 Hours

Instructions for Candidates

1 . Write your Roll No. on the to

of this question PaPer.

2. This question paPer is divi

3. Answers may be written eit

but the same medium should b

p aper.

Your Roll No,..............

t4s2 H

1227 t40Z

Intermediate Macroeconomics-

II

B.A. (Hons.) Economics

IV

Maximum Marks : 75

t

*
I

t
-_\.

bFit*frqff&r
r E( n:Fr-wr + m A sci Rs {s ffuik elrq 'Tt ifl.r{r

r{qrcrfiftfrq I

2. z16 rls;r {? a d t funFra * t

3. EqrF-c-ri[T"* **t*64ffi qq. qqlqAfrg,tfr.'{

trt Yat or qrqq v6 A EhI sGq I

coLt

nto

n

(2500) P.T.O.

1452

)

)



t4s2

SECTION ,A

<(s 6

Answer briefly any six of the following questions.

(5 marks each)

ffiRd n + tu€ E: yrq] * srt €frsr

(s ffi r-+6)

Contrary to the contention of the economic historians
like Moses Abramowitz and Aleksander Gerschenkron
that "backward" countries would tend to grow faster
than the rich countries, many empirical studies
including that by Baumol reveal that in a larger sample

of countries, the convergence hypothesis faits to hold.

What explanation would you offer for the same?

Wr innlk€ qh trffis{+++rqi-{ft qrma.zRErffirt

tEradfr 'ffi, tsr rftHdgo-+++fr+frtr{
qiln + ffid, qrs+fi Em frs w 6,{ qr+q-q imq{+
t wr qa-ar * ft H * w c-t it+ {, qfrv<q cfrr-fl-{r )
As-d * qrfr ir sm q(+ frs wr rq€qtor ti?

Harrod's model is one of a knife-edge balance
between cumulative inflation and cumulative deflation.
Discuss with necessary algebra stating clearly the

assumptions of the model.

11

(b) The commitment to maintain a fixed exchange

rate makes the money supply stock endogenous.

Discuss. (5)

(c) Suppose that the annual interest rate is 8%o in

lndia and 6% in US. The spot rate of the dollar is

Rs. 80/$land th€ three-month forward rate on the

dollar is Rs.80.80/$1 on an annual basis. What is

the value of the covered interest arbitrage margin?

Also discuss how covered interest arbitrage parity

would be established. (5)

(o,) td ppp *r Efr{q Eir'* <rier ppp ffi vt vo
tfrR +c frrdr zoer t rg< rrq slR*r *t qrcc

i6r cDp ffier rzs *r eoo l, ffi fr qqqr srqR

sf eoto = loo * qnr * rr{ *r {a-t * tqle&
qrfrq \c+ d ffftcq E{ 4o rqA/$ * qre-+.t rz

wlzS d rr{ il zoto-zozt. wr lirs qfu ilq .'k
wlFr tEt qrr+ q"t r& l?

(te) rq fffuo hfrqq E( q{v {€l fr yft-(6dr Tcr Bil$

Rio' d ffa firfr ir q-qt o'c+t

, t4s2

)

2
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+Frq s{6qs{qdui{qrd $6rdqr@I 6A
+ fts fi Eg {q <flq.lur or sc+{ oir flfuqtqr

+Msldffivffqkssra*wto]
+t ${rfd sr.fr t?

tts 6r amr ffi gErdR *i nme qcdR + fi-q

;niir6'-qar cA fua-{ + t vt' il arqr d qRW* d sq
rq t qtri Es irslq.6'ffi'( + uq q-d 6tr

ffic *r +R +'Efr{r ttsd' + ffi 6r trrfrfirf,Fr
qterot frfilqr

Explain how a central bank that follows the Taylor

rule will stabilize economic activity and achieve its

target inflation rate in thc medium run.

qdrq fr 2.di ft{rq q.I qrtr{ o'd srf,I v6 +fu ++' srffi-6

rrRPfu 6l +t Rn qtrn *r qurq sqft + irc+ HBfr

1EIdR <( u1 qlid *trttr

The asymmetries in the pace of adjustment in different

markets results in cxchange rate overshooting.

D iscu s s.

frfrq qmtf + Tqr+qr * rrfr i frqq-dr * qfonqew

frftqq qr ffiar *fr * q-qi olr

1452

I

3

)7-q

9A

(.r) c6 qmRsl ffi6cr gf,Ire{ stt-it Y = K04 L06

+ ftq, qqd Er !6T trr 20% A+ q{ nfr 6{qlt

tS e,r Rn {wI FR irrt *r gam s( Bfu "rt t
gE r-qn: rs% *r s% * tc i ff u{ *r qe (fi
qt @I I + nfr 6{qlt fut rqelr rq*rr d
orfuotm o''tft *? s{ Rrt er*qr t (ff-rerrt
rgvn wr ii

12. (a) Write a short note on absolute PPP and relative

PPP theory of exchange rates. The GDP Deflator

of United States and India are 125 and 200 in
202 I both calculated with the base year 2010= I 00.

The exchange rate of Indian Rupee to the dollar

changed from 45 Rs/$ to 72 Rs/$ during the period

from 2010 to 2021. Arc the currencies following
relative purchasing power parity? (5)

y.(r) = (;l*li) (1 - se)qqr(t)

5

P.T.O.

3. Critically examine Friedman and Phelps versions of

the 'fooling model'.
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6 For a Hicks neutral production function Y: BK0'4L0'6,

calculate multifactor productivity growth rate if output

Y. capital K and labour L grow at 4o/o, 5%o and,8Yo

respectively? What is the link between total factor

productivity rate and the social infrastructure?

Fw ga sflnfir siFr y= BK04L06 * fts, uflrEc y,

tfr r ofu {rr L !8"{{r: AYo, sYo ut( sx Td-+ w nEffic
yflr{firT R6m sr fr rrum ot? ga ifircfi irflr{ 6-dT Er

f,k {rrrffrc, Effi EA * {-q wr qcq l?

What is a cyclically adjusted budget deficit? How can

it be used to judge the direction of fiscal policy?

qfrq w + qqrAfu rrcr. sra qr t? rtodftq fifr
6 Efi dc q,A + frs rsor gqqlr ++ frqt uT rF[ltT

i?

Under conditions of perfect capital mobility, fixed
prices and flexible exchange rates, assess the

effectiveness of fiscal policies.

td Efr ?rRfi-o-dr, ffkd *cdr ft n-fffr ffffm qt fr
rrfr * aw, rrual*c {frfr fr Hrsfi-d-il ifi sF6trT
qtr

balanced growth path. How does the share of the

researchers in the elonomy affect the level of per

capita output? (5)

7-s
(l

)

v'(r) =
9A

(c) For a simple neoclassical production function

Y = K0'4 L06, what is the steady state level of
capital per worker when the level of savings rate

is 20%. The depreciation rate and growth in labour

is given as l5oh and 5olo respectively. What is the

savings rate that maximises the steady state

consumption per worker? What is the capital-output

ratio at this steady state? (5)

(6') AK *r * u!-" tsi( ft6m 6 yB,cr vt ss ?q!n

frrd st{ Et 6t fr ffiq,a fre} ?iqr { tn dt
w& *n tr

(o) roso * sqo, * cq t ;rs-( 2022 itir s RRci (fi
cgu+ + frc EHqr d sflt{qT iilndr lff t c& il
vgko F+rt w * qM rfr fr:rrqrfiffi'( o,r*

/----lr-\
\n+g1 +d) (1 - se)qeul(t)

7

8

)
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(i) qe w{ d sflr({ * {o rkrt d q{q tq{I
qr fr rtqr<q * {€ tr( arrrt wr tfr
qRs?

(ii) s{ + mrr d 6r<1 6{+ + fts r{ cr{

qk ffid tttqir E!6 cl sc+{ of w< u.{ 5
TflEr rn 3ilreq srrfr *, w sE Tr {-6
aqrff tr

(iii) gA Rq{ur drrrd 6I flfrc-fi {€ f,r I ffi
irln 6.r E( u{ t afi Tfr w*ror d q-{q rd
*i+€mro.ftS?

ll. (a) Write a note on the process of perpetual

growth under the AK model and discuss as to

why this does not occur in the neoclassical Solow

model. (5)

(b) The population of the world has increased steadily

since the mid-1850s to reach 8 billion as of

November 2027. Use the equation given below

to explain the role of population of the world

economy in determining per capita output along a

1452

SECTION B

rds ra

Answer any three of the following questions.

(15 marks each)

ffikd I + ffi- +{ rsi] * va< fffrsr

(rs sro e-do.)

(a) The economy of Indus has been a witness to

continual increase in its primary deficits during

the period from 1995 to 2000 adding to its stock

of public debt. However, its debt to GDP ratio

over this period has been witness to a steady

decline. What explanation would you offer for the

same? (7 5)

(b) tn the literature on moral hazard, some economists

argue that depositor protection is not desirable.

Do you agree? Do you think that depositor

protection should go hand in hand with prudential

regulation and supervision for a stable financial

system? (7.5 )

58
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P.T.O.
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(v') frg fr s{qqelr rqcs t zooo * u-{E + *tm irq+

qrffi+, aur * €t+'a1 lM gv ,r+ yrqR-+. sA

i vrmn gE 6 rrsr6 rff il ErflrB, E€ rqfu + E{+l

Aq-ffi s[trlliT iFIIilR ftrr+e qr vret ra fi grq

EsA frs qr sfiqi{q ?+?

(c) tR-+. trrrw qrFil i, qo affiir- o,r nd * fr
sqr*-dt$ fr gtm <ffi rfi *r qr inc {6ffi *?
rrn silc d arnr t ft'v+, frri ffic wn-e + frs
scr6-d$ d $err Ato1rl frffqq-{ ft qfterur +
{Fr-{Fr +fr ilEs?

10. (a) Examine the impact ofa negative technology shock

on the level of output and employment, as per the

real business cycle approach. Also show that this

effect crucially depends on the slope of the labour

supply curve. (7.5)

(b) Assume that a price setting monopolist with no

fixed costs and MC=3 faces an original demand

curve of P=10-0.1Y. Over a period of time, the

demand falls to P:8-0.08Y.

(i) If the firm were to maintain the original

level of output what should be the new

marginal cost of production'/

(ii) Use the new demand and the new marginal

_ cost curves to compare the profit of the

firm when it produces the original output

with that ofthe profit when it charges the

original price.

(iii) What is the maximum value for menu cost

under which we could expect this firm to

maintain its original output? (1.5+4+2)

(c,) ermBo qFrR qfi'ffiq + rgm vflra *r
t-wrrt * R{ rR vrfi';c6RrFFr'ffiffi Jttqrfr d nrrrq

d um qtr qa $ eelEs ft'qa crrs fttsI,t sc t
ryc fffi {fi * am qt fuft orar lr

(e) m-mr tt fr r1a fffua amr Bfu ftilr irrrkT : 3

* cls (q' {€ ffukur v6rk+,R p=10-0.1y + tr
qm qr qr rtFrir 6Grr *r wq d (Ic, qrlr ft{.6.(

P=8-0.08Y ra vrft *r

76

P.T.O.
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